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Arithmetic

1A person invests i 500 at 10% simple interest. He
withdraws the entire sum after five years. What is the
amount that he would get?

a) Rs.500
b) Rs.600
¢) Rs.700
d) Rs.750

2. A man walks 10 km towards north. From there he walks 6
km towards south. Then he walks 3 km towards east. How
far and in which direction is he with reference to his

starting point?

a) 7km east

b) 5km west

¢) 5 km north-east
d) None of these

3.A, B and C together can do a work in 12 days. A alone can
do the work in 36 days and B alone can do the same in 54

days. C alone can do it in:

a) 9 days

b) 18 days
c) 24 days
d) 27 days

4. A tricycle was sold for Rs. 873 at a loss of 3%. Its cost price

182

a) “Rs. 846.81
b) Rs.899.19
¢). Rs. 927
d) Rs. 900

5.A man is thrice as old as his son. Three years ago the man
was 4 times as old as his son. Find their present age.
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a) 27,9
b) 30,10
c) 24,6
d) 33,11
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6.The sides of a triangle are in the ratio 1: 3 : 5. Its perimeter S.jlq? @@G‘Q ?lﬂ W8 ?JE‘LW@GQ‘EI@? [\'@Ia
is 90 cm., the length of its largest side is: aar ¢o AT, 6669 2Q QIR AR STy
a) 40cm 6QEC7?
b) 48 cm 2
¢) 50cm g) bio 5
d) 54cm b) ¥r ead
¢) 80 6Qd
d) 8Y 6Qf
7.The sum of two integers is -25. If one of them is 30, then 7.990 2618 IR AT 6208 -9 81 9@ QAo
the otl;er ;Sé FRIQ 6GITN Mo 6G6R TN 620G
a
b) 5 a) 88
¢) -55 ‘
d) None of thege s
c) -88
d) ea8ais 63 ged
8.The smallest f the fracti 22712, = e
" of the fractions 3,2,7. 2 45 8.2 AR Adg 6a6d Ag0Iq 6aIe? =l
2 g'q
3 9
b) 2 B 5
: b) I
c) = ) ¥
6 2
d Z 0) 3
12 °
d —
9.2m Scm is equal to: 9.98 3éé¢1
0 Dsn . ,E?!QI 4L QAR 2eg?
b) 2.05m 2) 9.8.8¢q
¢) 2.005m ) 9.08§
d) 025m ' ) ﬂ?@
) 9.00% deq
d) 0.98 Qgg
l10.11’ 10 be added to four times a number, the result is 5
ess than five times themumber. The number . 10. 9@ @ e a .
3 i is: 4 SR 918 9e60. @0 Hanang cose qermet.
b) 20 8 U0 8 6 c21014) gaga QUGIG 6960 ?
c)g 25 a) RS
d) 35 b) 90
c) 98
11.The ratio L5 : 138 in its simplest form is; 4 ag
a) 2:3 11. 2gaie
. e . o
b) 3:4 19 228+ 20 @ 269 ga cagy »
¢) 1:2 a)y 9:q
d) 5:6 b) My
c) R:9
d 8:9

12.The sum of two odd numbers is: 12. gaG 2 Q2w N R
a) an odd number 2 QAT ceag

b) an even number 3) R 29q Qg
c) sometimes odd sometimes even b) @ 99 ey
d) can’t be ascertained

©) §96R6RER 2gg 696w 667 49 |
d) Ao eaaia ade aIF
MUR/OD/D-4
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13 Rishab asked his Grandfather how old he was. Rather 13.089 QIF 696U Gﬂ@l@@(ﬂ 64d QI QEQ"GQG@.

| than giving gi:‘;eieszl‘j{;iht Sk fepgsgio'geh::cf t?w 615 QIFH Q86 529! ARI6E 64 G 6I6R: "67I9
e Sy first child (your Unel Raviy whon 1 was 29, 9% Q8IS 2188 ° G664 A6a ¥ el Quaulie 2@
| Now the youngest one (your Auntie Ramita) is 29 herself. 66I6@ 9 ¢ QF 6RIRAQI 696R 67IR FaFI ABR (AAET
! That's allal)'m;zlling you!" How old is Rishab's grandfather? ﬂl?i%@) 6q 6aIRzRl | 6 A901R AT 22l (gel Flea
| b) 78 afic)g 9¢ d 6RIRFI ¢ §Ng IGR A1 9gE"1 6969,
! Z% gé QBT 6RERIUANT VA 67667

a) 99

b) or
‘l c) Ig
| d) 9

14.What least number must be added to 1056, to get a

4 e diotetble o 537 14,2089 69 AFF 69Q LY CAITA AR AL TIQU
number exactly 1visible Yy I

a) 25 TRTR THIT 99 FIo1 Y 16T TaITE 6297
b) 38 2) (98
c) 2
d)) 12 b) “ar
c) 9
d) €9
15.Find the largest 3 digit number divisible by 162 15,22 9161 FQIRG 6202Q1, 49926 1 2T THQ AANIT
a) 982 6Q%G ?
b) 992
c) 988 a) Croy
d) 912 b) «¢¢9
c) CIre
d) Ce9

16.The cost of ploughing a field at Rs. 3 per m? is Rs. 624.  16.91 651 g Qaificn @869 6916 g 2% 966! a &6
If the breadth of the field is. 13m then its length is:

) 8m . 29% ol | 98 afia gar N Foq 269, 6569 I2IQ
b) 16m 6QaY 6960 ?
c) 39m =
d) 32m a) ﬂ?&
b) ©9 few
c) N¢ dfeq
d) 9 fea
17.Two natural numbers whose sum is 85 and the least 17.996 91989 @°sy QIgiw QA& 8 e ] ARNAE
common multiple is 102, is: 5 = .
2) 35 and 50 QEIoR R 09 26Q, G 6Lml:
b) 34 and 51 a) N8 Ye° 8o
¢) 17 and 68 b) Ny¥ ge°
d) 30andss ) o
c) RO Q" I
d) <o 9g° g8
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18.A gardener wants to plant 66 appl_e trees, l88 lﬁllgirrli .
trees and 110 mango trees in rows with equal nl% -
trees and with each row havin g only ene kind of tree.
least number of rows required is:

a) 6

b) 8

c) 10

d)y 12

19.The least number divisible by all numbers from 1 to 10,
both inclusive, is:

a) 5040

b) 504

c) 252

d) 2520

20.A, B and C can complete a job in 10 days while
working together. If D joins them, the job is completed in 8

days. In how many days can D complete the job, if working
alone?

a) 30
b) 40
c) 50
d) 60

21.The least number which should be added to 2497, so
that the sum is exactly divisible by 5,6, 4 and 3 is:

a) 13

b) 23

¢) 33

d) 43

22.What decimal of an hour is a second ?
a) .0025
b) .0256
c) .00027
d) .000126

23.An aeroplane covers a certain distance at a speed of 240

kmph in § hours. To ¢o : :
. ver the same distance in?2 i
must travel at a speed of: hours, it

18.9661 FIF 99T 646 9B, I'TT AIR1 6Ig IS° 0 ¢ 0d -

Q8Q QIAIg AFIL A°SNR GIR QI PR SR avQIg
QIga8 1" ERNR AITER 6397 6aIT gRIa g
QYRIg SIRIT | 6668, ATAT AT AW 6766 6267

a) 2

by

c) Ro

d)y 9

19. © @ Ro QLR ANY UG TN FAFS AT Qe
62RR: (© 9&° o Il F12])

a) 8o¥%o

b) 8o¥

c) 989

d) 9890

20.A, B 9@° C QI0 QI @091 471969 €0 &% kg
601N RIFl 6818 KRAIRER | 98 D 69FI9S Q2 6aig
G2, 6969 8 &% F1I6Q QIF 64T 6NN 95 4QIa1 D
RI9 903, 6362 6760 O AUER QI Asd QdaGee?

a) 9o

b) ¥o

c) 8o

d) %o

21.990¢ 606 @G 9% 09 gg 6RIGIERI 299, A1l
TRER CANTR 8, 9 ¥ Qe
6297

a) eq

b) 9q

c) NN

d) ¥¢

N 9190 A0K AILER FaIFe

22,6315 LI 6REC VEII1°E e 6dEQal? (@ﬂﬁ@s@)
a) .009%

b) .0989

¢) .00099

d) .coo0e99

2390 GFlin Q91 g5 9% o Aenidigq cogsa G67a 1@
ahe 9a0Ig 8 Q9I6a 21a9A Q@alg | 9 aeea AAF
GGl A0ge RBQIQ 626w, FIRYE cae 6qa6a GAITT
QIgl *AQIg 9gQ?

K MUR/OD/D-6
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a) 300 kmph
b) 360 kmph
¢) 600 kmph
d) 720 kmph

24.A motorboat, whose speed in 15 km/hr in still water,
goes 30 km downstream and comes back to starting point
o a total of 4 hours 30 minutes. The speed of the stream (in
km/hr) is:

a) 4

b)

¢l o

dy 10

25 Find the ratio in which rice at Rs. 7.20 a kg be mixed
with rice at Rs. 5.70 a kg to produce a mixture worth Rs.

6.30 akg.

B8
Eo T S R
[ T e

26.In the first 10 overs of a cricket game, the run rate was
only 3.2. What should be the run rate in the remaining 40
overs to reach the target of 282 runs?

a) 6.25

b) 6.5

c) 6.75

dy 7

27.The price of 2 sarees and 4 shirts is Rs. 1600. With the
same money, one can buy | saree and 6 shirts. If one wants
to buy 12 shirts, how much shall he have to pay ?

a) Rs. 1200

b)'Rs. 2400

c) Rs. 4800

d) Cannot be determined

28. Two students appeared in an examination. One of them
Se(l:]ured 9 marks more than the other and his marks was
36% of the sum of their marks. The marks obtained by
them are:

a) 39,30

b) 41,32

c) 42,33

d) 43,34

a) Q4 g8 noo FERFica

b) @498 NVo FEQIAGE

) @9I9F 900 FERFR

4 a491gd 990 FERFca
24 @ 66IGRETIS, DIRIA 6949 §9 AIfi6 A g% €8
GenIficq, Mo FemIfica 641G egan Qo6 IR
ageie ¥ a9l No Fdq 6 94 giefie 999 6Tq
2132 | 6969 6916Q 6Q4 (REMIFISH/ILISR) 6R6G?

a) ¥

b) 8

c)

d) Ro
o5 Geml @8l © 97 9o Uadl a4 SlaR 1e° Fem Jal
8 ol 90 0QAl 98 SlIARG 699 29UIGER AR
gl No ARl IR Figd 9ge 6297

a) °:9

by 9:

c) N:¥

d ¥:8
26. 5699 69109 JaF €0 BRRER AR 6aQ F1Ig N.7
gRIl 9T 9 QR Q SIEEE AARN RAQIG 6267, LT ¥ O
(ERER AR 60 6265 9@l AENR?

a) 9.98

b) 9.8

c) 9.98

d 9
27.95 §IF 8 ¥T AIGA My eDoo ¢F QR8I AAIE
SFI6R G681 0T AIGT B 9T QIS FTAIGR | 96 6a@
295 QI §aRIG SIFaR, 606 GIg 6966 ST 61
age ?

a) 2900 GG

b) 9¥oo gal

¢) ¥roo gl

d) G904 6IRCIRS QT

28.9% @dl YIGRIGT TVl 6TRgEM| 6ACRE 1UQ R66l

2R GO 0IQ ¢ FIF 2RQ ARSI 626 I FlIa
6Q7IGS FIR Q AT 89% Il 6QCIER ARSI ae
QJea eaal:

a) N¢, Qo

b) ¥e, M9

c) ¥9,99

d) ¥9), Ny
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29.A starts business with Rs. 3500 and after 5 mon_ths, B
joins with A as his partner. After a year, the proﬁtlls
divided in the ratio 2 : 3. What is B's contribution in the
capital?

a) Rs. 7500

b) Rs. 8000

c) Rs. 8500

d) Rs. 9000

30.In a family, the father took 1/4 of the cake and the rest
of cake was distributed equally among rest of family
members. Still the father had 3 times as much as each of

the other members had. Then, the total number of family
members is:

a) 3
by 7
c) 10
d 12

Computer and Internet Awareness

31. If a previously saved file is edited
a) The changes will automatically be saved in the
file
b) The file will only have to be saved again, if it is
more than one page in length ;
¢) Its name must be changed

d) The file must be saved again to store the changes

32. Which power point view displays each slide of the
presentation as a thumbnail and is useful for rearranging
slides?

a) Slide Sorter

b)  Slide show

¢) Slide'master

d) Notes Page

33. What is the main folder on a storage device called ?
a) Root directory
b) Interface
¢) Device driver
d) Platform
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A ~9@° B €16Q QGG 9 : N AQUIGER FOD QALK |
6067, (MIFER B Q 2IIF 6266 ?
a) 9800 G
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d) Qooo gl
30.69I5" QLIRS QUL /% B 69K 6ARZEM IQ° QIF
6% q JEQIRR AR AFAY ARG FIXIER AFNR VUIFEH
Qi FIAReml | ST, QA1 2RY 95F A9AIF FRRIsR
0 gél AR HREEM | 686R, JAVNNR AL AGQY
QI 6R6S ?
a) 1
b) @
c) o
d) ©9

QSR B RLACHE ACLORED

31. 9@ 99 g< 699 6T TIam, 1G] 62198, 6564
a) TI9R 6Q JERECHER IGI90 QS 648 629
b) A9 2INETN 9@ QAR BYS 94, 6968 & TIOR Q
a8 698 @AQIg ade
¢) el QIfl ehea afiql fga

d) IGRERGER 61 aRaIg Tian g8 698 624
2IRaNe

321606 Ell%?l@ INL @, QAUANIR geoye ARG 26rn
WIEA YLIL FEQ 9@° 09 g8ea gados aid aasaia
AV '
a) UAQ agq
b) UG &l
c) AN qIag
d) 69169 6aq
33. Y9 6QI6QR, GRlag 6a I8 67IRQ
a) 99 PREAEQN
b) @QLASTY
) 99199 glReg
d) Uead

Q € gRIAN?
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34. The word wrap feature -
2) Automatically moves the text to next line when
necessary
b) Appears at the bottom of the document
c) Allows you to type over text
d) Is the short horizontal line indicating the end of
the document
35, A process known as is used by large retailers to
study trends.
a) POS
b) Daita Conversion
¢) Data Mining
d) Data Selection

36. Personal logs or journal entries posted on the Web are
known as :

a) Listservs

b) Webcasts

c) Blogs

. d) subject directories

37. Youmustinstalla __ on a network if you want to
share a broadband Internet connection.

a) router

b) modem

¢) node

d) cable

38. Which among the following protocol, allows files to be
transferred from one computer to another computer?

a) TCP/IP
b) FTP

c) HTTP
d) None

39. The server on the internet is also known as:
a) Repeater
b) Host
c) Gateway
d) AND Gate

Join Us-

34, GG QIT Q'€ REQ?
a) ZGEHR AR 66TC § ISIFT W6 JOQaN AR §
A2 VER
b) ©QEAY A FEEQ QI
o) 2KEF 6599 SI9C ASIg 2GS G
d) @AY A 68F § IR 9 [ RESYR AK
269

15, QA e IR q Q9 YPA UQAUIAIER 698
PRIGE P09 QI QTR 9B |

a) d69q

b) @G QRN

¢) @61 AIeR°

d) @Ic1denaq

16/66268 6918 AULIRYSI S4BGIG RS A4 4R 1€9eq
@€ QRIAN?

a). M 6

b) 64Q @8I

c)

d) Q96 FIRCAEYAL

37, 9@ 296 K GINIS RAAEAT AEAITAIF 692
QEQIg G413, 696 2T 6ATEIRER IR BRlA
QR AR 2

a) QISR

b) 6€AI6RE

¢) SRR

d) €@9R

18, 6@ 6gI6TIAR, TIVNGEY 64T AEITRQ M
QHIeRq FIRISA FAQIG AGAT @97

a) GQ@02IRE

b) @&

¢) NeGET

d) 996aIS 6516RF ge%

39, AEQEATER R ARG 1 QRIAN |
a) @deQ
b) 621§
) 691Q 64
d) 219 6%lq



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

Download “Tech Of World” App

WtsApp/Call- 8596976190

40. Website is a collection of:
a) HTML documents
b) Graphic files
¢) Audio and Video files

40, 699 QIS A°PEG HLIWG QRIKIG?

a) 4OGNIFIN SIEALY
b) TR TN
c) 2@6 e AG6 TIem

d) All of the above d) QUEAUB AN

@2y ISty

g4 41 Q 45 QIR FeRARIA :

8¢ AIR816a AIET TR 66T 6561Q ¥ K€ [IGT FIAR
QEER FIF QERE FAULINE | 96S1R 1T GE6R 6Alig
FId B0 9" AIQ 99 CIR 9661 811 § 96PYR SEL6R 8F
QE6Q N8% A1 QAN VAL UG | ARETG AKINIQ

Data Interpretation
Directions for Questions 41 to 45 :
The Table below mentions the marks obtained by four students
of a class in five subjects. The total marks in each of the five
subjects is 50 and a student has to obtain at Jeast 35% marks in

cach of the subjects to pass. Study the Table carefully and
answer the questions that follow,

42 AULR FAG NG AR g99Eaa a8 Gag!
Marks of four Students of a Class in an Unit Test 6EllSN 6441R ¥ @6l BIg1 DA KERS! AR
Student/ . Social . . Qg a
Subjects | Maths | Odia Studies | Science | English / Qdie | 65 Q]g;:i:f? We | QR
Hema 26 29 35 42 31 QAL
7 I R 62¢1l 99 2¢ Nn& ¥9 qe
Rekha 18 36 29 31 26
1 | : eQcll er N ¢ Ne 99
Jaya 25 26 ‘
il ot 16 43 eal | 98 | 99 9.0 e9 | ¥q
Sushma 33 41 38 21 8BS qae | an ¥R qanr 9 98
41.Who among them scored the highest marks? 41.6QAM10@ (Y G AR cue agaga?
a) Hema a) &l
b) Rekha 4
¢) Jaya b) €qll
d) Sushma c) @al
d) Qe
42.Who among them failed the test? 42890199 FRIR G aBigIEe 5T sQIReeR?
a) Hema a) 627
b} Rekha b) sas
c) Jaya
d) Sushma c) @l
43.Wh f'marks did Rekha get? @ o
-What percentage of marks did Rekha get? = s
a) 65.2 % 43. 6Q8lIs 6Q6e godae aig FlmmI?
b) 56 % : a) 98.9 9
€) 55.6% b) 89 %
d) 632%
c) 889 Y
d) 299 %
44.What is the average of total marks obtained by the four a 3 2t
students? & y 4.4 ¥ 941 9181 AIRR 6719 ISR 2e1gIg cace?
a) 145 a) t¥s
b) 155 b) 88
c) 160 90
d) 150 9
d) ego
MUR/OD/D-10
|
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45.The ratio of total marks obtained by Rekha and Sushma is:
’ a) 70:73
by 69:72
c) 70:79
d) 70:71

Directions for Questions 46 to 50: _
The Line graph below shows the ratio of total number of Girl
Child to Boy Child born in an hospital over the years. Study
the graph carefully and answer the questions that follow.

Ratio of Girl child to Bey Child born
in a hospital over the years

k. 155 |

=
-]

: 5 i
| | t

=
)

B
N B

o o
o 00

irl Child: Boy Child
=

G
o o
N B

T T 1T 17N

1994 1995 1996 1997 1998 1999 2000 2001 2002

Years

46. If the number of Girl child born in 1998 was 250 and the
total number of Boy child born in the years 1998 and 1999

together b 500, then the number of Girl child born in 1999
was 7

a) 250
b) 300
¢) 357
d) 420

47. The number of Girl child born were minimum

Proportionate to number of Boy child born in the year ?

a) 1995
b) 1996
c) 1997
d) 2000

45. 69 9° 4R @ Il DId &ellc =) 2gqdie 62Q8:
a) 90:99
b) 9¢:9¢
c) 90:9¢
d) 90:9¢

g4 46 § 50 IS GeRERIEI:

Aoea FaIIRYS! ARG YIT 6@ 9 o8l R PIPANIFIER G
£21RYS 6716 @Rl ARIR IS° AIR@ IRA AGUIS QEIQIRE]
I § AERBIA AT AR FRP " Jeeel ggdens aea

Gag!

o @d M@ CIBASIFIER |G 6RIRLYSI 671
QY 48R 99° QIRR A8IRQ AGaIe

°8s

e.r
e.9
e.¥
0.9

R
o.l
0.9
0.¥
0.9

o.

eeeCy

— ey

AR AR : R AR

RCCY eeCr 9000

Qd

46. Q@ @ 0 CT 60 9 6LIRNAQ! QY AsI@ d°ail .9 B0 gl NQ°
RO E° e ¢ U ALIER A 6TIRNEQI 676 FIRa ABIR
PGl B0 0 R, 6GEL L ¢ ¢ ¢ 6Q RY LMY @l ABIRGET
Qo gml?

a) 98%o

b) oo

c) N8ge

d) ¥9o0

47. Qg6q, @g 621R¢Q QIR delk 9°slil gralea
GG 6TRYS R AGIF G ASHE AFAITR A7

a) ecdes

b) QCCY

c) RQC9

d) 9co0o
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48. What was the percentage increase in the number of Girl
child from 1997 to 1998 ?
a) 72
b) 56
c) 28
d) Data Inadequate
49. If the number of Girl child born in 1996 was 272, then,
the number of Boy child born in 1996 was __?
a) 370
b) 320
c) 280
d) 275
50. In how many of the given years were the number of Boy
child born more than the number of Girl child born?
a) 1
b) 2
c) 3
d) 4

Direction for questions 51 to 55:

The Pie chart below shows the result of a survey about the
percentage of readers of different newspapers. Analyse the Pie
chart carefully and answer the questions/that follow,

THE PERCENTAGE OF READERS OF
DIFFRENT NEWSPAPER IN A SURVEY

Deccan
Chronicle,
4%

Hindustan
Times, 2%

The Hindu,
16%

Timeg of
india,[34%

/ Indian
Express,
33%

48. 2009 Q R L LT FRIER IR ABIR & A°HIGR 6960
g68c 9F af8 ?

a) 99

b) 89

c) 9r

d) oo adig ges

49. 9@ € ¢¢'9 6Q 9Q LRSI AFY ABIAET A°FY 999
gal, 6569, € ¢ ¢ 6@ §F 6TRIYR QING AVIRT QG
w2

a) 990 -

b) M9o

c) 9ro

d) 998
50. FEIR6 Q9@ I 6960 6915 adien aaY UBIR Gy
GRAIES, AIRQ ARAR PRYS T3 J26 KRLSR?

a). @

b) 9

c) ¢

d) ¥

94519 55 aigl Sedaqie:

Gel6a 891 A1 FIS6R 19 ATTER Tl QAIYIQE,
606260 T6? HeRRIGRE I0RE L (QEE960) 218 |

919 916G A6TTIA A2 Feqsq 99 99 I0R6l ggg@ea

aaQ G2g|
J8R 6190 AR AI0RT Tegy (95aesq)
dmaIe
66QI] SIRAQ, 9%
65130, ¥%
] % 9%
Slaagag
Qaﬂ] N % Y%
| adaq
49639,
N9%
QERIERIAR
dIeg, e e%
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51.Inthe Times of India sector, approximately how many
Jegrees should be there in the central angle?

2) 120°

b 121°

o 122°

g 123°
57, If the reader of Economic Times is 4,000 in number, then
ire total number of readers of Indian Express and Times of
India taken together would be:

a) 24,000

b) 24,363

c) 25423

d) 25,643

53. What percentage of the total readers prefer Indian Express
or Economic Times?

2) 33%

by 11%

¢) 44%

d) 22%

54, I the total number of readers except for Times of India
and Indian Express is 335,000 ,then the total number of
readers for Economic Times and The Hindu will
(approximately) be?

a) 274,100

b) 285,600

¢) 293,000

d) Cannot be détermined

15nS tfllit; i‘:x?ﬂmber of readers of Indian Express were to double
P Cong‘:artand the rea.dc.rs of all other newspapers would
would be theanr at th?lr existing levels fof this year, then what
total nump proportion of readers of Indian express out of the
er of readers next year (in Percentage)?
a) 40%

b) 50%
) 60%
d) 70%

51. ¢10g AT &2l 6IGER 6K 6RIS AIAAY 6263
Gg1 QE@Q?

a) €90°

b) €9e°

c) €99°

d) €9q°

5y 0F QERIRHR SIRgA IOR QG ¥,000 25T, 666R
adiziq ¥eead Ne° Siag AT ARl AFalk dioR e
6@60 624 ?

a) 9%,000

b) 9%,999

c) 98399

d) 98,9%9
53 6elle QI0GAIaS FHIQAFQIA 6966 9086, a8aI]
F6gQ @91 RERIERIAR TImgg AR ARG?

a) NN%

b) R0 %

c) ¥¥%

d) 99%

54. 98 SIRg 2T A8l Me° QSRR NGEgd § QI 696m
691 I0R Q& NAB, 000, 6961, REAICAIFAR TR 9L°
& 89 alal 6616 TI0Q QG (AIHITIY) 626 6297

a) 99% Q00

b) 9r8,900

¢). 99,000

d) G8Iea 62IRAIGe AR

55. @@ 2lciel edeq AARIR IFEIAR QI0R A°GH GG
QI E° 2Ry Q7Y YRARITRA TIOR A SR oga
careEa AAUIR SA6Q FR AEQ, 6969 IS Qg 6f1e
QloR A°HYl FIQ AERAI] NPEFAR IO 2AQAIN(YTIOER)
6Q60 6297

a) ¥o%

b) 8o%

c) 90%

d) 90%
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g4l 56 Q 60 Al FEARIA:

FRIRINLS! SIQ YT 60 AFRQIR 6 SFaIq T g "??ﬁ
6990 60 &0 F¢l QERIAT U2 28R, Feqiq gqe o9
ﬁ@&g@lfﬂl@ﬂﬁ?ﬂ IkIg 6966 Y0810 @R @ AP eaigig
12l QEIIRT |

an 6999 54 @4 adoiie gig)

RIS QAARYR @R (964968)

Direction for Questions 56 to 60:
" The given Bar Graph shows the percentage of query resolved

€ by three people Akshay, Binod and Chandra on Tuesday and

Saturday with respect to total calls received by them.

Percentage of Query resolved by
three people at a Call Centre

100

S0

80

~
o

[=2]
o

% of Query resolved
5 g

w
o

QR Q660 % ARG 6RIQE

[
o

iy
o

R

i}

Akshay

Hogeee Dadqa

BTuesday  OSaturday

o

56. 46910 Q6 AT @ 99F TR ARG GQIQEJ_QI a4l
Q°GHYl 62T B¥ 0l 6064, IR AT & Tl GRRUIG

56. The number of queries resolved by both Akshay and
62IRAYSI ATRIA AFG R LU @'9 6LIRIGR?

Chandra on Saturday js 54( What could be the maximum

number of calls that Were not resolved by Akshay on a) o9y
Saturday? b)” e¥o

a) 134 c) €90

b) 140 d) €go

¢) 120

d) 150 57. ARIRQIA SERIS FIal Qe ARSI gg Qg

990 N QI AR 6R 623 G A IQI Al
QRN Fg 019 98% YR 26T | 6o6q AFRQIQ
ARG AR QR AHY 6650 '

57. Number of queries resolved by Binod on Tuesday is 270
and call received by him is 25% more than the query resolved

by Akshay on that day. Find the number of call received by

Akshay on Tuesday. a) ¥oo
a) 400 b) ¥ro
b) 480 c) ¥9o
c) 460 d) 9190
d) 360
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8. If calls from Tuesday to Saturday for both Binod and
Chandra increased by 20% and average number of queries
esolved by them on Saturday is 45 more than that of Tuesday.
Then, the difference between the call received by Chandra on
gaturday and on Tuesday is:
a) 260
b) 175
¢) 300
d) 240
59.What is the ratio of calls received by Akshay, Binod and
Chandra on Saturday, If the number of queries resolved by
them is in the ratio 3:4:2?
a) 12:33:19
b) 10:35:12
¢) 14:32:11
d) 15:32:10
60. If query resolved by Chandra on Tuesday is 60% of the
query resolved by her on Saturday. Query resolved by Akshay
on Saturday is equal to the sum of the query resolved by
Chandra on both days. Then, call received by Akshay on
Saturday is more than that of Chandra on Tuesday by what
percent?
a) 100%
b) 200%
¢) 250%
d) 300%

Logical Reasoning

Direction fo, Questions 61 to 62:

ive Typi 3
dif eer];iﬂs;z;i?i“ag Jyoti, Kavita, Latika and Malati type at
1yoli. Malai gy PSIta types faster than Latika but slower than
€ one why ty pes slower than Latika, but is not the slowest.
 1ypes secopd fastest, types at the speed of 75

Words pe
ypes ai: t}rlmmutE. The one who types the second slowest,
C speed of 5¢) words per minute.

61, How
a) ot:: " Persons type slover than Ipsita?
b) two
C) thl‘ee
four

58.08 900 96519 8 99w JIA AFRAIA 26AR SGIR &R
90% am 9F dIeg 9e° 45QIe 62T FIal AR
62IRYSI IR g A TR FRAIER ¥§ AR
6569, SGAIR 95 699 @R ATM GIRl ATRIAIN GIRIEA
6@6 2RIS?

a) 990

b) €98

c) Moo

d) 9%¥o

59. 98 43I0 G4 28, F6RIQ 9G° 09 IR AFIMIG
QRUARYS! @ A°HYL91%;9 2GAIVER 21T, 6669 6ACURG
6% &Q GRQI 6AIS @R YR QAT 686S 7

a) £9:q:eQ

b)  RoNB:R9

c) R¥:M9:ee

d) °8:M9:2o

60. 8% ISR AARIS AR AR LY, TR AT FIQ
AIRIIR QAR @R S Q 0% 266 | TR ARG &
el AR RAUAIRLYI IR 2G4, A0 FRER 95T FIal
RIS QUYL DR QSIQ AAE 986 QAR 26T |
6069, SHQIR 289G AR 601G @R LS, AFFIR LT
dfeel an QsMioIQ 6860 ghee 2?

a) Roolp

b) 900%

¢) 980%

d). Moo

g38499 06

g4l 61 Q 62 AR FeRARIFI:

@361, 63415, G0, BRI 8 ARG 6F 8 99 sIRde Ga Ga
63160 SIaE @031 A6, ABRI OIg 96 §g eaude o
a8 | ARG, aGa1 09 dite, §g Ag0IR M18 994 | F
T8 069 GIaq 964, 64 9% f9q 60 98 99 6qgisq
SR QGEIN| &4 Fola allees SIaq @delN, 69 g
AHGER 80 4R 6996Q SIRG KN |

61. 6963 B8l Q43 261 01 2110 SIRY §6F?
a) 9@
b) ga
c) o6
d) QR
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62, Which of the following statements is true?
a) Jyotiis the fastest Typist
b) Kavita types faster than Latika
¢) No statement is true
d) Ipsita types at the rate of 50 words/minute

Direction for questions 63 to 67:

There are seven lecturers A,B,C,D,E,F and G and they are
teaching seven different subjects Physics, Economics,
Geography, Biology, Chemistry, Maths and History. Their
annual salary is divided into three salary slabs, 3-5 lakh, 6-8
lakh & 10-13 lakh. Their Salaries in Lakhs are in whole
numbers only and no two persons have same salary. There are
three person only in the salary slab of 10-13 lakhs. F earns 12
lakh. B and G earn lower than F’s salary in the same salary
slab. D earns more than only one person who teaches
Economics. The person who teaches Chemistry earns more
than the one who teaches Geography and their total annual
income is 15 lakh per annum in the same slab. There are two
persons only in the salary slab of 3-5 lakhs, The person who
teaches History earns lower than F and higher than the one
who teaches Biology in the same slab. F does not teach
Physics. The total annual income of G & A and B &E aré 17
lakh and 19 lakh respectively. The difference between the
annual income of D and C is 2 lakh.

63. As per the given arrangement, F is related to Biology and
G is related to Geography in a certain way. To which of the
following is A related to the same way?

a) Maths

b) History

c) Physics

d) Economics

64. What is the difference between the annual income of the
one who teaches Biology and the one who teaches Physics.
a) 4 lakh
b) 6 lakh
c) 5lakh
d) 3lakh

65. Which combination represents the annual income of a
person and the subject he teaches?

a) 7- Chemistry

b} 3-Economicg

c) 10-History

d) 11-Biology

62. FORYS FrIQ 699 G95F €?
2) 6R4IC 6283 §oon TIRde
b) @RCI NGD 0IQ §© F1AY K6Q
c) 6916 QAR AT g%
d) 9del so 9 [AG9 AR 1Y F6a
63 @ 67 94 QIR FeaRiA:
A,B,C,D,E,F 8G 9 @4 2Ige 24, 9e° 62161, 9F G
Ga Qa0 a2 9 SRie, 2618, 950IR, FIRTRIR, Qe
amie, 086 6 AGeIa aQIess| cARIeE QTR @arlq F6qIT
6907 Q960 TR ARIKIAG QI N-8 AW, 9-I AW IL° Ro-
°N MY 6AAIRT QA (RS 6Q) 6597 I A°TIER QEF 9e°
671613 98l 4R AFUR @QFI Q1T € 0-2 N AR QA QIRE]
f1Ig N 84 AT F,'e 9 A 6QIRTIA 99&! B 9e° G QA1 9@l
QI96a F @ 20211 0IQ @41 6819619 993 | D 6699 66115+
UEFS (34 @ 2216 €2I3) 019 ZIS CAIRTIA 93 | QTG
G819 91909 @48 PETIR IRIRYSI QiBE 01 2R AR
@62 99 AR CAUSFIR QYAEA 218E | 62FIFES ISR BigQ
AF €8 QA AT | N-8 AT QA YRR 650 90 08 283
P01 ALK &, F o Ol ¥ SRR AT, 9e° qaR
U6R FIRTEIR AQYNGR TS 09 LYW CAIFAIR 90T F
a%1el 3816 9015 ¢TI G 6 A 99 B GE & qifig 2e A0g
QRAIFE ©2 WA 99" R ¢ QA 26T | D 9" C @ QIFG 219
F12I6Q QIR 6208 9 A |
63. QRUILIRYRN Q4o LRI, 96 Gog QAAEQ, F 2108819
QS QAR NS° G 6eln 40 A0 | 6969 Qrle QAIBeq,
AORYS ARIR6RET A a0 AqFe?
a) Q&e
b) QG
c) a9l fgie
d) 2deid

sim@ﬁm d9IRgRl 48 9° gl Ggig AR G
QTR 28 AI6Q Qlgey eace?

a) ¥ag

b) 9 Qm

c) 8ag

d) Ne

65. 674 g4 G681 4da QiFig 2R ge
geaNQ Q6e?

a) 9-QQI9e Jgiq

b) Dn-2de1G

¢) Ro-gdaig

d) Re-QIedmie

84 gQIRgRl I99g
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6. W0 among the following earns double of D’s annual
income?

66. HRYE AAQ &9, D @ QIFR 2109 GRS 6N K9B?
a) E

o b ©
9 ¢ ¢y C
9 4 d A
67. GIRgE FIQ @9 AQlel FRIG ARIF?
¢7. Who among the following teaches Physics? a) D
) b o
c) A & A
o d B

68.Look at the series, 46, 44, 40, 38, 34, , which number
should come next?

68. GHIAIG 606Ig, ¥9, ¥, ¥o, N, N¥, __, Q6N 92680
606 LH 213 95Q?

a) o
a) 30 b) M9
b) 36 c) M9
¢) 32 d) |e
d) 31
69.RQP, ONM, ___, IHG, FED, &6slie agageq a8
f:ttir; Sthe seriesRQP,ONM,  ,THG, FED, find the missing Q@
a) CDE
i) CDE b) LKI
b) LKI ¢) LKJ
¢ LKJ d) BAC
d) BAC 704 g6FIFTR €0O@ QIafIgl a8 Age, Qg 6aad
70. A thermometer is to tempe.rature as a compass is to 92 aqRe? |
a) Pressure a) QI
b) Humidity b) 2GSl
¢) Direction ¢) @9
d) Needle d) g8

7 Poin;
Ingtoga photograph, aman said, "I have no brother, and
thal Man'g

H.fa'hcr is my father's son." Whose photograph was it?

71.966 943 N U661 (@R GE6M, "6FIQ 6QET IR QIF.

g° 648 QUG G951 601 QIAIT GBI 606 BIRI QIRIG TEE!
2m?

4) His son a) Qg
b) His own b) oIa aea
©) His father ¢) Qe dal
d) Hig nephey d) oIF ads!

72 Al’ra
' n
lge the fQ“OWi

72.59R40 aRg@] 1e 2dqd grI6a 99 fagl

Arrest ng words in a meaningful sequence. e Jogr
E-P"_nishmem 9.9
4 eon Q680
S-Cr:mc .
Judgmep ¥ 20a
8.QU

P Ny
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a) 4,1,5,2,3
b) 4,1,5,3,2
) 4,52,1,3
d) 4,5,2,3,1

73.Mukesh walks 6 km toward the South and then walks 3 km

to his left. Finally, he turns to his right and walks 6 km. In which
direction is he from the starting point?

a) South
b) South-West
¢) South-East
d) West

74.If in a certain language, NOIDA is coded as OPJEB, how is
DELHI coded in that language?

a) CDKGH
b) EFMIJ
¢) FGNJK
d) IHLED

75.You have to select one word that is the necessary part of the
underlined word. Shoe

a) Leather
b) Sole

c) Laces
d) Socks

76.Read the following statements:
L. Pooja is older than Mukesh.
I Suresh is older than Pooja,
I “Mukesh is older than Suresh.

If the first two statements are true, then the third statement is:
a) False
b) True
¢) Uncertain

d) None of thege

chairperson, based on seniori
than Mr. Tomar, but more than Mrs. Bakshj. Mr. Rawat hag
more seniority than Mr, Verma, but less than Mr. Tomar, Mr.

a) ¥, % 92,9
b) ¥, ¢ 89,9
c) ¥,89,¢
d) ¥,8 9,9,

73.96@48 Q88 89g 9 RAIASR IR GIR QIZIE ¥e° oI'Uee
QI 46g N GEAIFISE OR QIZIF | 6aT6R 6d BIRIS 2GG

Jeia 9 FerIfica 9IF SR aIZIB! 666, gI9de §9Q 69
600 G6R 21887

a) @ad
b) @fg-afie
c) ofg-ge
d) adie

749G 99 G99 QIIER NOIDA 9 OPJEB QI9ER 6RIQ
UL, 6369 647 RIGIER DELHI ¢ 308 6012 @RIgN?

a) CDKGH
b) EFMI]
¢) FGNJK
d) IHLED

75219615 69159 &9 9ae @091Q 96 QI 902 689 fga1
&g 6% | 6 IB)

a) Qg
b) 6aIR
c) &mg
d) 6IR
76.960R%6 9895R aag:
L 99, g6ees oig qq
L 9609, 901 01 Qg
L €694, g6049% OIq g
AT gad 9ae Q98 96, 698q Qo1 39T caed
a) el
b) <@
¢) 2R8e
d) QTR 66T geq
77.% 26099 T8 ol eagg) ARIBsR gon 218 FYS

GRRIQ OISR | 81 eFiRa, g1 soriq 0l @e @age 28, 78
IACT S¥S 0 248 | a1 argene, g1 edie olg 28

MUR/OD/D-18
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ont want the job. Who will be the new science
Tomfr!lrwntchairperson‘?
P gr, Rawat
a) Mr. Tomar
] Mr. Verma

§) M. Bakshi

£2, —

BIn Ann’s opinion, his weight is greater than 65 kg but less
thiiﬂ 72 kg, His brother doesn’t agree with Arun and he thinks
fhat Arun’s weight is greater than 60 kg but less than 70 kg.
fis mother’s view is that his weight cannot be greater than 68
ke, Ifall are them are correct in their estimation, what is the
a\h'erage of different probable weights of Arun?

a) 67kg

b) 68kg

¢) 69kg

d) Datainadequate

79.A,B,C,D,E, and F are sitting in a row. E and F are in the
center. A and B are at the ends. C is sitting to the left of A.
Who is to the right of B?

a) D

b) C

c) A

d F

30.111 a family, there are hushand-wife, two sons and two
aughters. All the ladies went to a invited dinner. Both sons

Went out to play. Husband did not return from the office. Who
Was at home?

a) Only wife was at home
b) Nobody was at-home

¢) Only sons were a home
d) Al ladieg were at home

General Studies

&1 Wha ;
18 ¢ 5
Eventgy he Correct chronological order of the following

AN
- Non. .
N-Cooperation movement

?{uil India Movement
D', C?jﬁl I‘_"dian Navy Mutiny
) AR Sobedience Movement

Qhacl 28, @g ¢ calidiaw 01 @ | 91 saIa IRA
QISRIEIE | 4 6268 THIE FRITR T2 AUA?

a) g1QGe

b) 4163EIR

c) &1&dl

d) 166195

78. QST AIG6Q GIFA BRF 9B 6Q5Q R &P 99 6367
Qfl OIF IR AQEE QIEQ AR qEE 9e° 64 QIS 6@
QST BRF D0 6QFQ AR @3 90 6aag @0 | oiw are
(1666 OIF 887 9 6REQ 2R CTIRAIAR QIR 98 an6l
6ACIRe 2RRRER A0K, 696< APIR Sua AR BTAQ
ALIR 6R6S7

a) 99 69§

b) 9T 6%

) 9C 6

d). Gen adiig ges

79.A, B, C, D, E 4@° F 665N 21560 @G83 E 98° F
62562 21831 A 9Q° B 9@ 669 126 21831 C, A @ Q19
adeq 938 16069, B 9 Q121§ A6 &4 287

a) D

b) C

c) A

d) F

80. 66lI5N GRQI0ER GIC11-Q1, 9 G2 8 9@ Zel 2188 AAg
AER1 Q151 6QIRAYIA YR FFC6R AIRYEA | 9R G2
63RAIq QIRING IR YN 2TAY ETARYEMI VER 4
26m?

a) €6Q g6 IKAIG AQ!

b) €6Q 68T QeER

) G6Q 6QAR JAANIER 26m

d) Q08 a891 Q6Q g6m

QRIKQE 2eda

81. ORYC AeEIgFea A0] QINIGEN X'€1?
A. QWA 2ICRAINT
B. QIQQ 81 26RIRE
C. Quia ad2ie 676 F6gI

D. QIO8Q 29610l 26RIRG
a) ABCD
b) ADBC
¢c) CDBA
d) DABC
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82.In which year did Odisha become a separate State
/Province?

a) 1940
b) 1936
c) 1937
d) 1935

83,Ip 1860s one third population of Odisha perished during a
famine. Which year did this famine occur?
a) 1862

b) 1864
c) 1866
d) 1868

84.Who said “Swaraj is my birth right™?
a) Bal Gangadhar Tilak
b) Gopal Krishna Gokhale
¢) Mahatma Gandhi
d) Lala Lajpat Roy

85.Which among the following is a UNESCO world heritage
site? ‘

a) Lingaraj Temple

b) Khandagiri Caves

¢) Konark Temple

d) Dhauli Stupa

86.With which of the following States, Odisha does not share
any land boundary?
a) Madhya Pradesh

b) Andhra Pradesh
¢) West Bengal
d) Chhatisgarh

87.Which among following rivers does not originate in
Odisha?

a) Rushikulya

b) Mahanadi

c) Budhabalanga

d) Baitarani

88.Which among the following lakes is not a freshwater lake?
a) Chilika lake
b) Anshupa lake
c) Tampara lake
d) Kanjia lake

Join Us-

82. 354l 62@ Q¥ P 0T URY/YELE6R 9IRS 62RI ?
a) QC¥o
b) e¢qmo
c) eUq9
d) ecns

83. 0T 90 QARG BRAIR IR GOILIE SRR GEVER Tl
2019267 | 674 @ 1@ Q@Y ceIRARI?

a) er99

b) eroy

c) er9os

d) erar

84. @4 QEYEM "YIR 6610 SR BRIR"?
a) QIR TR BAR
b) 6QITP G 6alSiER
c) €121 SN
d) RN AFAQ AU

85. DIRYE AR 62U YER6al 59 ATy ae?
a) QEIR AFQ
b) S4AQ getl
) 6RIEIe ada
d) ueGga

86. FORNYS 634l B 926, 6619 6ea 9f Qe 91T |
a) ¢Igead
b) 2IFYeed
¢) Y8CeF
d) 8699¢

87. AIMYS A1 66l 2e1 6F4I6a agR 99 Q@2
a) QAGRY
b) FLIRGT
) QAleRe
d) 6504

88. GAIYS 20 9AR FrIQ 698G R 8% 20 G657
a) ORR 2@
b) 2°galee
) QIfal 8%
d) 8 ee
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o the duration of Panchayats (unless dissolved earlier
gg,ﬂfhagonsﬁtution ?

B 35

; 4 year

) yeal‘

dJ 6 yf:al"

o= ey

) peservation for which of the following category in
puchayats Municipalities is not prescribed in Constitution?
4) SC
b) ST
¢) OBC
d) Women

9 India follows:
a) Parliamentary system
b) Presidential system
¢) Monarchical system
d) None of the above

92. What is the term of the office of President of India?
a) Four years
b) Five years
¢) Six years
d) Three years

. Atticle 1410 18 of Constitution'of India deals with:
a) Right to equality

b) Right to freedom

¢) Directive principle of state policy
) Futidamenta] duties

94, Seventh schedule

2) of Constitution deals with:

) nion, State apg Concurrent lists
) Languageg

¢) Powers, author;

) P ity and responsibility of Panchayats

owers, authority and responsibility of Municipalities

95. O

18ha Lag: .
Membergy — oSlative Assembly comprises of how many
a) 137

b) 149
9 159
4 145

- 94,

89. QAR AGUIA TEIGSR 2T 6@6P (Y Qer
Q6=6R)?

a) 999

b) ¥ed

c) 8QY

d) 9eg

90. QEING/6dIRAIRRIEa FORYS 69@ 96 IR, I°QVE
QAIFER FRIRG Q6 ?

a) QYR QT

b) 2996 SARIG

c) 2 agal |dl

d) TR

91. QGG QENYO FUIY 674 MG AGIARE KEQ?

a) QAR e

b) QYA Quegl

c) QAUFEF YA

d) QUeqs 6wIadET gow

92. QIRRR AUYAT 999 FITILIR 69697

a) 918 e¥
b) QEed
c) 2298
d) o8 ed

93. QIRGIR AFMIRR 2IQl 0% Q °T 609 Gaa a2 Agde?

a) AIFFIR AR

b) WNFGIQ eRyRIR

0) UM T 2Ad Feadql
d) &1R3Q Qay

ARAGR AYA AP 6RE FUEG AR AQT?
a) 69K, AN IG° AN SR

b) WIS geR

¢) JEILGR [/AG, 2K 6 Qe

d) edeaR@a 896!, 2yIR 9 Qfiq

95. B34 RUIF ARGR 6R6S AAQY 219G ?
a) 299
b) °¥9®
c) 89

d) ex¥g
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96.India is largest economy of the world measured in

current dollars.
a) 3::]
b) 4®
C) 5th
d) 6

97.What is the largest export from Odisha in value terms?
a) Metallurgical
b) Engineering, Chemical and Allied
¢) Minerals
d) Marine

98. During 1850-2019, what percent of cumulative global
emissions has India contributed?

a) 3%

b) 4%

c) 5%

d) 7%

99. Which Indian state has the maximum carbon stoek in
forest?

a) Madhya Pradesh

b) Arunachal Pradesh
¢) Jammu & Kashmir
d) Himachal Pradesh

100.What was the share of Odisha in production of chromite

in India during the year 2021-22?
a) 70%
b) 80%
c} 90%
d) 100%

Join Us-

96, QIQG 399 Q20 2GS (R60¢ GRIQER F1IQ) ?

a) §oa
b) g
¢) €8¢
d o9

97. {jA 2960, 6ARE BESIR A0IQ 92 QFIF AIFIG ?
a) UGS Qe
b) ABHARC, cafiein 98° aAgde
¢) %% aeled
d) Qgge

98. @80 Q90 e L gal, IFRie 59 FFrea aIaea
ZQYIR 6R6R YO0 AES?
a) 1%
b) ¥%
c) 8%
d) 9%
99. 674! DIRGIE ANIQ SETAGE AR RITT |G 2F?
a) FRIGERE
b) AQEISR geas
©) 99 6Qga
d) R197 gsaq

100. QIGBER 9 09.0-99 adcq, 6TI1RQ ARRER 6Baiq
2161 6060 gRI?

a) 90%
b) ro%
c). Co%
d) ooy
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